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Eco Quotient Rate = (Water Rate + Electricity Rate + Garbage Rate) /3

ARDUINO DISPLAY : EX:(4+9+7)/3=6.6is the rating




1.Water : R
1)( Black water / Water intake) * 10=X R

2) Electricity:
) Acc to research 1 Flat consumes approximate 100 kWh/month

2) (Grey water / Water Intake) * 10=Y Power consumed ratio = ( Power consumed by building/ No of flats)

wer consumed ration compare with standard valuei.e. 100 kWh/ month

IX-Y=Z

0 Ifelectricity consumption is less than 100kWh / month than Rating is 7-10

O If electricity consumption is between 100kWh / month and 150kWh/month than
Rating is 4-6

O If electricity consumption is more than 150kWh / month than Rating is 0-3

4) 10 - Z = Water Rating

o Ex: If 10 Litres of water is intake ,2 lit = Black Water W
4 lit = Grey Water J 1 lit = Stored, 3 lit = Consumed
Solution: (2/10) * 10= 2 This is our X

" (4/10) * 10 =4 Thisis our Y

EX:Ifwehavean LED bulb of 3 Watt then the rating of units will be around
1 unit which is less than 110 KW/h then the ratingis 9

10 - (2+4) =Rating

10 - 6 =4So 4 is the Rating



3)Garbage Equation:

Garbage Ratio = (Garbage Produced / 5)
Sis the approximate members in a family

e If Garbage=Fully Segregated Rating is 8 to 10
e If Garbage= Semi Segregated than pointis4to 7
e If Garbage= Not-Segregated then Rating is 0 - 3.

EX: If garbage produced is 800 kg and
semi segregated than

800/5= 40 kg then we give rating as 7
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